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Figure 20.1

4 units at the source 1

9 units at the source 2
and demands of
7 units at the sink 3

2 umts at the sink 4.

Figure 20.2
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minimize I = C13Xp3 T CpNpp + C23Xp3 + CyXpg + C34X3,
subject to —X;3 + Xy, > —4
L Xa1 — X23 — X4 > —9
N‘ X13 mr X3 — X34 = 7
Xag T X3y = 2
N13» X215 X235 N33, %33 = 0

minimize §

subject to — X3 + X5y — X5 = —4
— X231 — X3 — Xpa — X35 = =9
N X13 T X2 b = I
2 X24 T X3y = 2
X15.+ X35 = 4
N13s Naps X230 Xy, X34, N5, X5 = 0.
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Vi = min {515, Vo <o
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Initialize:
F=10
0 J=r,
Q”:{m j#T
while (|F¢| > 0){
j = argmin{vy : k € F}
F — FU{j}
for each ¢ for which (i, j) € Aand i & F {
if (cij +vj <) {
V; = Cij + v
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